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CSSE 375 – Software Construction and Evolution
[bookmark: _GoBack]Quiz 13 – first quiz, on Simplifying Conditionals:

1. Why are “Simplifying Conditionals” refactorings often needed?




2. What is the main problem that “Decompose Conditional” addresses? 

3. What is the related problem that leads to decomposing a conditional?





4. What is the solution that “Consolidate Conditional Expression” provides?

5. What is the real problem that “Remove Control Flag” solves?
6. What is your solution to Refactoring checkSecurity?
7. What is the problem that “Replace Conditional with Polymorphism” solves?  Give a careful answer:
8. What is the solution that “Replace Nested Conditional with Guard Clauses” provides?
9. What is the problem that “Introduce Assertion” solves, and how does it do that?
10. When you create an isNull operation on the source class, what do you return when this is called?
11. True or False: You find all places that compare a variable of the source type with null and replace them with a call isNull – this can be done by replacing one source and its clients at a time and compiling/testing between working on sources.
12. Introducing a null object, what is the replacement for:  
---------------
Customer customer = site.getCustomer();
BillingPlan plan;
if (customer == null) plan = BillingPlan.basic();
else plan = customer.getPlan();
 --------------
in the example?


13. 

